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9. @meﬁﬁm%_sﬁ@mwwm@mw !

HYAT

(English Version)
Instructions :

(i) First 15 minutes are allotted for the candidates to read the question paper,

(i) AU questions are compulsory.

(ii1)  Hlustrate your answers with labelled diagrams, wherever necessary,

(w)  Marks allotted to each question are mentioned against it.

(Multiple Choice Questions)

1. Choose the correct option and write in your answer-book :

(a)  Which organ in flowers represents the female reproductive organ ?
(i) Gynoecium
(i) Androecium
(1)  Anther

(iv) Tapetum

(b) How many testis are found in the male reproductive system ?

(1) 1 (one)
(i1) 1 pair (one pair)
(iii) 2 pairs (two pairs)

(iv) 3 pairs (three pairs)

348 (Gl) 4



(c)

(d)

2. (a)
(b)
(c)
(d)
(e)

3. (a)
{b)
(c)
(d)
(e)
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The full form of MR is - I

(i)  Metaphasic Resonance Imaging
(ii)  Magnetic Resonance Imaging
(i)  Magnetic Resonance Immunity
(iv)  Metaphasic Reo Imaging

Sickle Cell Anemia is an example of which type of mutation ? 1
(1) Point mutation

(i)  Aneuploidy

(iii)  Deletion

(iv)  Translocation

(Very Short-Answer Type Questions)

Down’s syndrome occurs due to abnormality of which pair of chromosomes ? 1
Write the name of any one cnntratlteptive used by females. 1
Which sugar is present in RNA ? http-s:waw.upboardonline.com 1
The development of male gametophyte occurs in which ofgan of the flower? 1

Sperms are formed after which type of division in male germ cells ? 1

(Short-Answer Type Questions-I)

Write down two functions of the Pituitary gland. 2
Define Xenogamy. 2
What are Parthenocarpic fruits ? Give one example. I+]
Describe any two functions of promoter, 9
Write down the names of any two sex-linked diseases in humans. 1+]
5 P.T.0.



4. (a) Mention the causes of cancer in humans. 3
(b)  Explain Allergy with examples. 3
(¢)  Write the full form of BOD and comment on it. 1+2
(d) Comment on productivity. 3
5. (a) Describe the different components of nucleotides in brief. 3
(b) Comment on infectious diseases. 3
(e)  What is homology ? Describe with example. 2+1

(d) What do you understand by intra-uterine insemination technique ? In
which conditions is this technique used ? 2+1
6 (a)  Describe the Chromosome theory of Genetics. 3
(b) Describe the importance of Biotechnology in human welfare. 3
(¢)  How does co-extinction damage the Bio-diversity ? Describe with example. 2+1

(d) Highlight the importance of fungi in production of Antibiotics, with
examples. 2+1

(Long-Answer Type Questions)
7.  Describe the energy flow in an Ecosystem with diagrams. 5
OR

Describe the different components of an Ecosystem. 5

8.  What do you understand by Chromosomal Aberrations ? Describe any two
aberrations. 2+11, 11
2 2

OR

Describe the Hardy-Weinberg principle. 5
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(Short-Answer Type Questions-II)



DNA is a genetic material - Prove it with description of an experiment.
OR

Describe the following in brief :

(a) DNA Polymorphism

ihi Bioinformatics



